Ei5hle | 2~ | | A=

é HhHeET W<
L ZABYE WL

FE—% LE DV

REA

._sm

U banzz sh5E DB

@ ~Lvar LzLsd, 1050 @) Bhesr mAzi
 mBTLEI. 125 (10

© 8+

@ 444

® 248

=i ( )
@ 340

@ et 5b wET. 4b

L YAT 2FIlLf. RriE EART
® |45 RADIC o TLLI, 12500
c (L)

® 446

@ 0+0 § 25z )
@ T 3tHh 0 LEI %3
T+2 L UBREBLE OKY, TEEELES,
: ¢ 12 5(20)

© zrar 9z w3z phY
2212 O% 2FEL LI,

1210(20) :

S

5+5 ’ 3+6 ’ T B % H > RTA

( ) ( ) o HYET. PIVK
2_|_5 ’ | _|.8 ’ AZ HBTLLI,
( ) ) S )

B350 Al F325% LT 6585,




ELs | 2~ | R=T

6 HhHhET W<
e »3\16& \v\<’)

@ ~Lxit Lzl 1osuo i @) ahErr Az
: L&

® 8+|=9
0=, FUFELLSIC
IBFL &S

@ 4+4=38
: 7+3=10

® 2+8=10 §05bﬁt&m rLET

® 3+0=3 ‘ )
@ v 5p vET. 4b
POXAT FE LK. B FART

® 1+5=6 kAl GahTlid. 1sst0
SO

® 4+6=10 oHA=T
| QIREBIALDIEDD, 1LET
: iwbﬁiﬁo

@ 0+0=0 ra( 9 )
O vxvT 3tho Lz %3

® T+2=9 L UBEEBLE <Y, SRAELLS.

@ zrir 9 nmr haY
2ok Ot -BEL&).

121 20]§
10 G :

E E NMELRA | 3z T

( ) (O ) Lz HYET. el

9
+ 4 C(BDEAST mAT HBTLED,
2+5 I+8 e
( ) (O ) poeT) zra (72 )

SP

..

R1-6

11



	テスト.pdf
	解答p11.pdf

